

T-40-19 Addendum 2 Intercounty Engineering, Inc. Supplier Response

Event Information

Number: Title: Type: Issue Date: Deadline: Notes:	T-40-19 Addendum 2 Sanitary Sewer Manhole Rehabilitation, Annual Contract Invitation To Bid 9/23/2019 10/28/2019 02:00 PM (ET) Sealed Bids for Bid T-40-19 , Sanitary Sewer Manhole Rehabilitation, Ann ual Contract will be received until <u>2:00 p.m. (local), on October 24, 2019</u> . Bi ds must be submitted electronically through the eBid System on or before the due dat e/time stated above. Bid openings are open to the public. All bidders and/or their repre sentatives are invited to be present. A list of bidders will be read aloud in a public foru m. Bidder pricing will be made public only when tabulation is posted. Any bid receive d after the due date and time specified, will not be considered. Any uncertainty regar ding the time a bid is received will be resolved against the Bidder.
	Bidder must be registered on the City's eBid System in order to view the bid docume nts and plans and respond to this solicitation. The complete solicitation document can be downloaded for free from the eBid System as a pdf at: <u>https://pompanobeachfl.i</u> <u>onwave.net</u> . The City is not responsible for the accuracy or completeness of any do cumentation the Bidder receives from any source other than from the eBid System. B idder is solely responsible for downloading all required documents.

The project consists of furnishing all labor, equipment, tools, and materials for the re habilitation of sanitary sewer manholes, as needed throughout the City of Pompano B

Contact Information

Contact:	Tammy Thompkins
Address:	Purchasing
	1190 NE 3rd Avenue
	Building C
	Pompano Beach, FL 33060
Phone:	(954) 786-4098
Fax:	(954) 786-4168
Email:	purchasing@copbfl.com

Intercounty Engineering, Inc. Information

1925 N.W. 18th St.
Pompano BEACH, FL 33069
(954) 972-9800 x206
(954) 974-0042

By submitting this Response I affirm I have received, read and agree to the all terms and conditions as set forth herein. I hereby recognize and agree that upon execution by an authorized officer of the City of Pompano Beach, this Response, together with all documents prepared by or on behalf of the City of Pompano Beach for this solicitation, and the resulting Contract shall become a binding agreement between the parties for the products and services to be provided in accordance with the terms and conditions set forth herein. I further affirm that all information and documentation contained within this response to be true and correct, and that I have the legal authority to submit this response on behalf of the named Supplier (Offeror).

Maurice Hynes

mahynes@intercountyengineering.com Email

Signature Submitted at 10/28/2019 7:56:57 AM

Requested Attachments

Qualification of Bidders Form

Qualification of Bidders form the attachments tab must be completed an uploaded here.

Local Business Program Forms

Local Business Program Forms from the attachments tab must be completed an uploaded here.

T1_T2_ Local Business Form

T-40-19 Tier 1_Tier 2 Compliance Form.pdf

T-40-19 Qualifications of Bidder.pdf

T-40-19 Local Business Exhibit A.pdf

Tier-1/Tier-2 Local Business Forms from the attachments tab must be completed an uploaded here.

Response Attachments

T-40-19 Local Business Exhibit B.pdf

Local Business Exhibit B

T-40-19 Bid Bond.pdf

Bid Bond

Bid Attributes

1 Conflict of Interest

For purposes of determining any possible conflict of interest, all bidders must disclose if any City of Pompano Beac h employee is also an owner, corporate officer, or employee of their business. Indicate either "Yes" (a City employee is also associated with your business), or "No". (Note: If answer is "Yes", you must file a statement with the Supervis or of Elections, pursuant to Florida Statutes 112.313.)Indicate Yes or No below with the drop down menu.

2 Drug-Free Workplace

Preference must be given to Contractors submitting certification with their bid or proposal, certifying they have a dru g-free workplace in accordance with Florida Statutes, Section 287.087. This requirement affects all public entities of the State and becomes effective January 1, 1991. Preference shall be given to businesses with drug-free workplace programs. Whenever two or more bids which are equal with respect to price, quality and service are received by the State or by any political subdivision for the procurement of commodities or contractual services, a bid received from a business that certifies that it has implemented a drug-free workplace program shall be given preference in the aw ard process. Established procedures for processing tie bids will be followed if none of the tied vendors have a drugfree workplace program. In order to have a drug-free workplace program, a business shall: (1) Publish a statement notifying employees that the unlawful manufacture, distribution, dispensing, possession, or use of a controlled subst ance is prohibited in the workplace and specifying the actions that will be taken against employees for violations of s uch prohibition. (2) Inform employees about the dangers of drug abuse in the workplace, the business's policy of m aintaining a drug-free workplace, any available drug counseling, rehabilitation and employee assistance programs, and the penalties that may be imposed upon employees for drug abuse violations. (3) Give each employee engage d in providing the commodities or contractual services that are under bid, a copy of the statement specified in subse ction (1). (4) In the statement specified in subsection (1) notify the employees that as a condition of working on the commodities or contractual services that are under bid, the employee will abide by the terms of the statement and wi Il notify the employer of any conviction of, or plea of guilty or nolo contendere to, any violation of Chapter 893 or of any controlled substance law of the United States or any state, for a violation occurring in the workplace, no later th an five (5) days after such conviction. (5) Impose a sanction on, or require the satisfactory participation in, a drug a buse assistance or rehabilitation program if such is available in the employee's community, by an employee who is s o convicted. (6) Make a good faith effort to continue to maintain a drug-free workplace through implementation of thi s section. Select Yes below from the drop down menu to certify that your firm complies with the above requirements. Yes

3 Vendor Certification Regarding Scrutinized Companies Lists (Over \$1,000,000.00)

Section 287.135, Florida Statutes, prohibits agencies from contracting with companies, for goods or services over \$ 1,000,000, that are on either the Scrutinized Companies with Activities in Sudan List or the Scrutinized Companies w ith Activities in the Iran Petroleum Energy Sector List. Further, Section 215.4725, Florida Statutes, prohibits agencie s from contracting (at any dollar amount) with companies on the Scrutinized Companies that Boycott Israel List, or wi th companies that are engaged in a boycott of Israel. As the person authorized to electronically sign on behalf of Re spondent, I hereby certify by selecting the box below that the company responding to this solicitation is not listed on the Scrutinized Companies with Activities in Sudan List, the Scrutinized Companies with Activities in the Iran Petroleu m Energy Sector List, or the Scrutinized Companies that Boycott of Israel, and is not engaged in business operations in Syria or Cuba. I understand that pursuant to sections 287.135 and 215.4725, Florida Statutes, the submission of a false cer tification may subject company to civil penalties, attorney's fees, and/or costs.

Certified

4 Acknowledgement of Addenda

Check this box to acknowledge that you have reviewed all addenda issued for this solicitation. Yes

5 Local Business Participation Percentage

If you have indicated local business participation on the Local Business Participation Form Exhibit A enter the perce ntage of the contract that will be performed by local Pompano Beach businesses.

100%

6 Extension of prices, terms and conditions to other governmental entities

If awarded the contract resulting from this bid, will your company agree to extend the same prices, terms and conditi ons to other governmental entities? (Note -- Optional, agreement not required for contract award.) All Purchases m ade by other governmental entities shall be understood to be transactions between that entity and the awarded ven dor; the City of Pompano Beach shall not be a party to or be responsible for any such purchases. Indicate by selecti ng yes or no from the drop down menu.

No response

7 Terms & Conditions

Check the box indicating you agree to the terms and conditions of this solicitation.

Agree

Bid Lines

1	Mobilization				
	Quantity: <u>1</u> UOM: <u>LS</u>	Unit Cost:	\$7,500.00	Total:	\$7,500.00
2	MOT FDOT Roadway				
	Quantity: <u>5</u> UOM: <u>EA</u>	Unit Cost:	\$750.00	Total:	\$3,750.00
3	MOT County Roadway				
	Quantity: <u>15</u> UOM: <u>EA</u>	Unit Cost:	\$450.00	Total:	\$6,750.00
4	MOT Local Roadway				
	Quantity: <u>88</u> UOM: <u>EA</u>	Unit Cost:	\$110.00	Total:	\$9,680.00
5	Manhole 4 feet Diameter w/coating				
	Quantity: 1050 UOM: VF	Unit Cost:	\$160.00	Total:	\$168,000.00
6	Manhole 5 feet Diameter w/coating				
	Quantity: <u>15</u> UOM: <u>VF</u>	Unit Cost:	\$188.00	Total:	\$2,820.00
7	Manhole 6 feet Diameter w/coating				
	Quantity: <u>15</u> UOM: VF	Unit Cost:	\$210.00	Total:	\$3,150.00
8	Wetwell 8 feet Diameter w/coating				
	Quantity: <u>15</u> UOM: VF	Unit Cost:	\$545.00	Total:	\$8,175.00
9	Wetwell 10 feet Diameter w/coating				
	Quantity: <u>15</u> UOM: <u>VF</u>	Unit Cost:	\$633.00	Total:	\$9,495.00
1	Wetwell 12 feet Diameter w/coating				
0	Quantity: <u>15</u> UOM: <u>VF</u>	Unit Cost:	\$758.00	Total:	\$11,370.00
1	Invert/Bench Repair				
	Quantity: 20 UOM: EA	Unit Cost:	\$50.00	Total:	\$1,000.00
1	Sandblasting				
2	Quantity: <u>55</u> UOM: <u>EA</u>	Unit Cost:	\$225.00	Total:	\$12,375.00
1	By-pass pumping < 6 inches				
3	Quantity: <u>5</u> UOM: <u>DA</u>	Unit Cost:	\$100.00	Total:	\$500.00

1	By-pass pumping > 6 inches	ntractor's Response and Doc	uments		
4	Quantity: <u>5</u> UOM: <u>DA</u>	Unit Cost:	\$125.00	Total:	\$625.00
15	Vactor Truck				
5	Quantity: <u>15</u> UOM: <u>HR</u>	Unit Cost:	\$300.00	Total:	\$4,500.00
1	Indemnification				
0	Quantity: <u>1</u> UOM: <u>LS</u>	Unit Cost:	\$10.00	Total:	\$10.00

Response Total: \$249,700.00

City of Pompano Beach, FL Individual Award

Bid Information		Contact Info	ormation	Ship to Information
Bid Creator Email	Tammy Thompkins Purchasing Agent	Contact Address	Tammy Thompkins 1190 NE 3rd Avenue Building C	Contact Address
Phone Fax	tammy.thompkins@copbfl.com (954) 786-4098 (954) 786-4168	Telephone Fax	Pompano Beach, FL 33060 (954) 786-4098 (954) 786-4168	Telephone Fax Email
Bid Number Title	T-40-19 Addendum 2 Sanitary Sewer Manhole Rehabilitation, Annual Contract	Email	purchasing@copbfl.com	
Bid Type Issue Date Close Date Alternates	ITB 9/23/2019 08:55 PM (ET) 10/28/2019 02:00:00 PM (ET)			
Supplier Infor	mation S	upplier Notes	3	
Company	Intercounty Engineering, Inc.			
Contact Address	1925 N.W. 18th St.			
Telephone Fax Email	Pompano BEACH, FL 33069 (954) 972-9800 x206 (954) 974-0042			
Submitted	10/28/2019 08:56:57 AM (ET)			

Bid I	_ines				
#	UOM	Description	Qty	Response	Extended
1	LS	Mobilization	1	\$7,500.00	\$7,500.00
	Manufactu	rer: Manufacturer #:			
	Supplier N	otes:			
2	EA	MOT FDOT Roadway	5	\$750.00	\$3,750.00
	Manufactu	rer: Manufacturer #:			

Supplier Notes:

3 EA	MOT County Roadway	15	\$450.00	\$6,750.00
Mar	nufacturer: Manufacturer #:			
Sup	oplier Notes:			
4 EA	MOT Local Roadway	88	\$110.00	\$9,680.00
Mar	nufacturer: Manufacturer #:			
Sup	oplier Notes:			
5 VF	Manhole 4 feetDiameter w/coating	1,050	\$160.00	\$168,000.00
Sup	oplier Notes:			
6 VF	Manhole 5 feetDiameter w/coating	15	\$188.00	\$2,820.00
Sup	oplier Notes:			
7 VF	Manhole 6 feetDiameter w/coating	15	\$210.00	\$3,150.00
Sup	oplier Notes:			
8 VF	Wetwell 8 feetDiameter w/coating	15	\$545.00	\$8,175.00
Sup	oplier Notes:			
9 VF	Wetwell 10 feetDiameter w/coating	15	\$633.00	\$9,495.00
Sup	oplier Notes:			
10 VF	Wetwell 12 feetDiameter w/coating	15	\$758.00	\$11,370.00
Sup	oplier Notes:			
11 EA	Invert/Bench Repair	20	\$50.00	\$1,000.00
Sup	oplier Notes:			
12 EA	Sandblasting	55	\$225.00	\$12,375.00
Mar	nufacturer: Manufacturer #:			
Sup	oplier Notes:			

			Award Total :	\$249,700.	00
	Supplier No	otes:			
16	LS	Indemnification	1	\$10.00	\$10.00
	Supplier No	otes:			
	Manufacture	er: Manufacturer #:			
15	HR	Vactor Truck	15	\$300.00	\$4,500.00
	Supplier No	otes:			
	Manufacture	er: Manufacturer #:			
14	DA	By-pass pumping > 6 inches	5	\$125.00	\$625.00
	Supplier No	otes:			
	Manufacture	er: Manufacturer #:			
13	DA	By-pass pumping < 6 inches	5	\$100.00	\$500.00

BID BOND

STATE OF FLORIDA)

COUNTY OF BROWARD)

KNOW ALL MEN BY THESE PRESENTS, that we, ____Intercounty Engineering, Inc.

SS

1925 NW 18 Street, Pompano Beach, FL 33069

as principal, and

ARCH Insurance Company, Harborside 3, 210 Hudson Street, Suite 300, JERSEY CITY, NJ 07311

hereinafter called Surety, are held and firmly bound unto The City of Pompano Beach, Pompano Beach, Florida, a political subdivision of the State of Florida, and represented by its City Commission hereinafter called OWNER, in the sum of ______ FIVE PERCENT (5%) OF PROPOSED BID -_____ Dollars (\$ ______) lawful money of the United States of America, for the payment of which well and truly to be made, we bind ourselves, our heirs, executors, administrators, successors and assigned, jointly and severally, by these presents.

WHEREAS, the Principal contemplates submitting or has submitted a Bid to the OWNER for the furnishing of all labor, materials, equipment, machinery, tools, apparatus, means of transportation for, and the performance of the work covered in the Proposal and the detailed Drawings and Specifications, entitled:

(Bid Name) Sanitary Sewer Manhole Rehabilitation, Project No. T-40-19

WHEREAS, it was a condition precedent to the submission of said bid that a cashier's check or bid bond in the amount of 5 percent of the base bid be submitted with said bid as a guarantee that the Bidder would, if awarded the Contract, enter into a written Contract with the OWNER for the performance of said Contract, within 10 consecutive calendar days after written notice having been given of the award of the Contract.

NOW, THEREFORE, the conditions of this obligation are such that is the Principal within 10 consecutive calendar days after written notice of such award being given to Principal, enters into the contract to such award and gives a Performance and Payment Bond, each in an amount equal to 100 percent of the base bid, satisfactory to the OWNER, then this obligation shall be void; in the event of the failure of Principal to enter into such contract and bond, the sum herein stated shall be due and payable to the OWNER and the Surety herein agrees to pay the sum immediately upon demand of the OWNER in good and lawful money of the United States of America, as liquidated damages for failure thereof of said Principal; otherwise, it shall remain in full force and effect.

IN WITNESS WHEREOF, the saidIr	ntercounty Engineering, Inc.		
as Principal herein, has caused these preser	nts to be signed in the name by its		,
and attested by its			orporate seal,
and the said ARCH Insurance Company			r,
as Surety its Attorney-In-Fact	v herein, has caused these presents	to be signed in	its name by
under its corporate seal, this <u>24th</u> (year)	day ofOctober,	A.D.	2019
Signed, sealed and delivered in the presence of:	Information Fraction		
presente or.	Intercounty Engine	ering, Inc.	

As to Principal

Natalie C. Demers

Myoshi McDavid

Stephanie McCarthy

Principal By

Hartford Fire Insurance Company Surety By:_ Laura D. Mosholder, Attorney-in-Fact (Power-of-Attorney to be attached) By: au Laura D. Mosholder, Resident Agent

END OF SECTION

Features Bo Coin Rub Watermark Hidden Pantograph In Testimony Whereof, the Company has caused this instrument to be signed and its corporate seal to be affixed by the signed affixed by the signed and its corporate seal to be affixed by the signed and its corporate seal to be affixed by the signed and its corporate seal to be affixed by the signed and its corporate seal to be affixed by the signed and its corporate seal to be affixed by the signed and its corporate seal to be affixed by the signed and its corporate seal to be affixed by the signed and its corporate seal to be affixed by the signed and its corporate seal to be affixed by the signed and signed and the si officers, this 20th day of August, 2019. Attested and Certified Arch Insurance Company Insurance

Patrick K. Nails, Secretary

STATE OF PENNSYLVANIA SS

COUNTY OF PHILADELPHIA SS

I, Michele Tripodi, a Notary Public, do hereby certify that Patrick K. Nails and David M. Finkelstein personally known to me to be the same persons whose names are respectively as Secretary and Executive Vice President of the Arch Insurance Company, a Corporation organized and existing under the laws of the State of Missouri, subscribed to the foregoing instrument, appeared before me this day in person and severally acknowledged that they being thereunto duly authorized signed, sealed with the corporate seal and delivered the said instrument as the free and voluntary act of said corporation and as their own free and voluntary acts for the uses and purposes therein set forth.

CEREDRAL SEAL 1971

Missouri

Ach

COMMONWEALTH OF PENNSYLVANIA NOTARIAL SEAL **UCHELE TRIPODI, Notary Public** City of Philadelphia, Phila. County My Commission Expires July 31, 2021

David M. Finkelstein, Executive Vice President

Michele Tripedi, Notary Public, My commission expires 07/31/2021

CERTIFICATION

I. Patrick K. Nails, Secretary of the Arch Insurance Gompany, do hereby certify that the attached Power of Attorney dated August 20-2019 on behalf of the person(s) as listed booker is a five and correct copy and that the same has been in full force and effect and a five and correct copy and that the same has been in full force and effect and a five and correct copy and that the same has been in full force and effect and a five and correct copy and that the same has been in full force and effect and a five and correct copy and that the same has been in full force and effect and a five and correct copy and that the same has been in full force and effect and a five and correct copy and that the same has been in full force and effect and a five and correct copy and that the same has been in full force and effect and a five and correct copy and that the same has been in full force and effect and a five and correct copy and that the same has been in full force and effect and a five and correct copy and that the same has been in full force and effect and a five and correct copy and that the same has been in full force and effect and a five and correct copy and that the same has been in full force and effect and a five and correct copy and that the same has been in full force and effect and a five and correct copy and that the same has been in full force and effect and a five and the correct copy and that the same has been in full force and effect and a five and the correct copy and that the same has been in full force and effect and a five and the correct copy and the five and a five and the correct copy and that the same has been in full force and effect and a five and the correct copy and the five and a five and the correct copy and the five and the correct copy and the five and the five and the five and the correct copy and the five an

this 241 day of Octob er 20 /

atrick K. Nails, Secretary

This Power of Attorney limits the acts of those named therein to the bonds and undertakings specifically named therein and they have no authority to bind the Company except in the manner and to the extent herein stated.

PLEASE SEND ALL CLAIM INQUIRIES RELATING TO THIS BOND TO THE FOLLOWING ADDRESS:



Printed in U.S.A.

Exhibit D - Contractor's Response and Documents In Testimony Whereof, the Company Mas-caused this instrument to be signed and its corporate seal to be affixed by Acid Free and Kicrophy Foreit and the search of the sear Pantoc officers, this 20th day of August, 2019. Attested and Certified Arch Insurance Company Insurance Ach CORPORAT SEAL 1971 Patrick K. Nails, Secretary David M. Finkelstein, Executive Vice President Missouri STATE OF PENNSYLVANIA SS COUNTY OF PHILADELPHIA SS I, Michele Tripodi, a Notary Public, do hereby certify that Patrick K. Nails and David M. Finkelstein personally known to me to be the same persons whose names are respectively as Secretary and Executive Vice President of the Arch Insurance Company, a Corporation organized and existing under the laws of the State of Missouri, subscribed to the foregoing instrument, appeared before me this day in person and severally acknowledged that they being thereunto duly authorized signed, sealed with the corporate seal and delivered the said instrument as the free and voluntary act of said corporation and as their own free and voluntary acts for the uses and purposes therein set forth. COMMONWEALTH OF PENNEYLVANIA NOTARIAL SEAL MICHELE TRIPODI, Notary Public City of Philadelphia, Phila. County My Commission Expires July 31, 2021 Michele Tripedi, Notary Public My commission expires 07/31/2021 CERTIFICATION I, Patrick K. Nails, Secretary of the Arch Insurance Gompany, do hereby certify that the attached Power of Attorney dated August 20-2019 on behalf of the person(s) as listed bookering will be and correct copy and that the same has been in full force and effect and a fire and effect and bookering will be and correct copy and that the same has been in full force and effect and a fire and effect and bookering will be and correct copy and that the same has been in full force and effect and a fire and effect and bookering will be and correct copy and that the same has been in full force and effect and effect and bookering will be and correct copy and that the same has been in full force and effect and a fire and effect and bookering will be a Hidd Colo Antifi Anti-Erasi Micre IN TESTIMONY WHEREOF I have merunto subscribed my name and affixed the corporate seal of the Arch Insuration this 2411 day of October , 2019. Patrick K. Nails, Secretary This Power of Attorney limits the acts of those named therein to the bonds and undertakings specifically named therein and they have no authority to bind the Company except in the manner and to the extent herein stated. PLEASE SEND ALL CLAIM INQUIRIES RELATING TO THIS BOND TO THE FOLLOWING ADDRESS: Insurance, Arch Insurance - Surety Division 3 Parkway, Suite 1500 Philadelphia, PA 19102

SEAL 1971 Wissouri

00ML0013 00 03 03

Page 2 of 2

Printed in U.S.A.

LOCAL BUSINESS EXHIBIT "A" CITY OF POMPANO BEACH, FLORIDA LOCAL BUSINESS PARTICIPATION FORM

Solicitation Number & Title: Bid T-40-19 Sanitary Sewer Manhole Rehabilitation, Annual Contract Prime Contractor's Name: Intercounty Engineering, Inc.

Name of Firm, Address	Contact Person, Telephone Number	Type of Work to be Performed/Material to be Purchased	Contract Amount or %
Intercounty Engineering, Inc.	Morgan Gautreaux	All rehab of manholes under this contract	100%
1925 NW 18 Street, Pompano Beach, FL 33069	(954) 972-9800 ext 207		

LOCAL BUSINESS EXHIBIT "A"

LOCAL BUSINESS EXHIBIT "B" LOCAL BUSINESS LETTER OF INTENT TO PERFORM AS A LOCAL SUBCONTRACTOR

Solicitation Number T-40-19

a corporation

TO: Intercounty Engineering, Inc.

(Name of Prime or General Bidder)

The undersigned City of Pompano Beach business intends to perform subcontracting work in connection with the above contract as (check below)

_____an individual

_____a partnership

_____a joint venture

X

The undersigned is prepared to perform the following work in connection with the above Contract, as hereafter described in detail:

Furnish all labor, equipment, tools and materials for the rehabilitation of sanitary sewer

manholes as needed on an annual basis.

at the following price:

10/24/19

(Date)

Intercounty Engineering, Inc.

(Print Name of Local Business Contractor)

1925 NW 18 Street

(Street Address)

Pompano Beach, FL 33069

(City, State Zip Code) (Signature)

IMPORTANT NOTE: Signatures on this form MUST be by an authorized employee of Subcontractor and must be uploaded to the Response Attachment Tab

LOCAL BUSINESS EXHIBIT "B"

10. Qualifications Of Bidders

To demonstrate qualifications to perform the Work, and to be considered for award, each Bidder must submit written evidence, such as previous experience, present commitments and other such data as detailed under Bidder's Responsiveness and Responsibility section of the solicitation (or in SUPPLEMENTARY CONDITIONS). Each response must contain evidence of Bidder's qualification to do business in the State where the Project is located or covenant to obtain such qualification prior to executing the Agreement.

- 10.1 How many years has your organization been in business as a Contractor?
- 10.2 State of Florida Contractor's license # CGC 1528089 / CUC 1225605 Contractor License Types State Certified General Contractor / Underground Utility Contractor

Broward County Certificate of Competency #:_____

10.3 Have you ever failed to complete work awarded to you? If Yes, where and why?

10.4 Have you personally inspected the proposed work and have you a complete plan for its performance?

 10.5
 Will you sub-contract any part of this work?
 Yes
 X
 No

If Yes, list all proposed subcontractors to be used on this project if the Bidder is awarded the Contract

for this project. The successful Bidder shall submit a COMPLETE list of any work that he proposes to subcontract and the proposed subcontractors prior to execution of the contract.

CLASSIFICATION OF WORK	NAME AND ADDRESS OF SUBCONTRACTOR

(Submit any additional contractors to be used on a separate sheet.)

Yes

Bidder Company Name Intercounty Engineering, Inc.

10.6	The following information shall be provided for this project: (a) Estimated total construction manhours700			
	 (b) Percent manhours to be performed by Contractor's permanent staff 100% (c) Percent manhours to be performed by direct hire employees 0% 			
	(d) Percent manhours to be performed by Subcontractors0%			
10.7	Equipment			
10.8	What equipment do you own that is available for the proposed work?			
<u></u>	Sewpercoat machine, pump, pressure washer, Vac truck, misc hand tools			
10.9	What equipment will you rent for the proposed work? None			
10.10	What equipment will you purchase for the proposed work? None			

11 List all work of similar type, complexity, and comparable value as requested under the Bidder's Responsiveness and Responsibility, Responsibility Documentation, Paragraph 2 Prior Project Experience and References of the solicitation. (Attach additional information on separate sheet)

Project #1

Project Name	e Sanitary Sewer Manholes Rehabilitation Annual Contract	
Project Owner	er's NameCity of Pompano Beach	
Owner's Addre	dress 1201 NE 3 Avenue, Pompano Beach, FL 33060	
Phone Number	ber Email addresssteve.almyda@copbfl.com	
Contact inform	rmation for the Project (if different from above)	
Contact Person	on Phone Number Email Address	

Nature of Work Manhole Rehab

Revised 12-5-2018

Bidder Company Name ______ Intercounty Engineering, Inc.

Original Contract Completion Time (Days) 365 days + 2 additional one year periods					
Original Contract Completion Date 10/16 - 09/19					
Actual Final Contract Completion Date 09/19					
Original Contract Price \$223,465.00					
Actual Final Contract Price \$198,400.00					
Description and Value of Work Completed by Contractor rehab of sanitary sewer manholes throughout the					
City of Pompano Beach					
Description and Value of Work Completed by Subcontractors N/A					
Project #2					
Project Name Lift Station Rehabilitation & Repair (Annual)					
Project Owner's Name City of Boca Raton					
Owner's Address					
Phone Number (561) 338-7315 Email address tkiernan@myboca.us					
Contact information for the Project (if different from above)					
Contact Person Phone Number Email Address					
Nature of Work					
Original Contract Completion Time (Days)730 days + two additional one year terms					
Original Contract Completion Date09/18 - 09/21					
Actual Final Contract Completion Date to be determined					
Original Contract Price \$1,200,000.00 per year					
Actual Final Contract Price					
Description and Value of Work Completed by Contractorongoing rehabilitation, repair and replacement service to the City of Boca Raton's lift station system.					
Revised 12-5-2018					

Bidder Company Name	Intercounty E	Engineering,	Inc.
----------------------------	---------------	--------------	------

Description and Value of Work Completed by Subcontractors N/A

Project #3
Project Name Lift Station No 54 Wet Well Lining
Project Owner's Name Seacoast Utility Authority
Owner's Address 4200 Hood Road, Palm Beach Gardens, FL 33410
Phone Number (561) 627-2900 Email address bweidenhamer@sua.com
Contact information for the Project (if different from above)
Contact Person Phone Number Email Address
Brent Weidenhamer
Nature of Work 8000sf of internal coating application of Sewpercoat.
Original Contract Completion Time (Days) 90 days
Original Contract Completion Date01/19
Actual Final Contract Completion Date01/19
Original Contract Price \$293,790.00
Actual Final Contract Price \$293,790.00
Description and Value of Work Completed by Contractor 8000 sf of Sewpercoat coating

Description and Value of Work Completed by Subcontractors N/A

TIER 1/TIER 2 COMPLIANCE FORM

IN ORDER FOR YOUR FIRM TO COMPLY WITH THE CITY'S LOCAL BUSINESS PROGRAM AS A TIER 1 OR TIER 2 VENDOR, BIDDERS MUST COMPLETE THE INFORMATION BELOW AND UPLOAD THE FORM TO THE RESPONSE ATTACHMENTS TAB IN THE EBID SYSTEM.

TIER 1 LOCAL VENDOR

 $\mathbf{X}_{\mathbf{x}}$ My firm has maintained a permanent place of business within the city limits and maintains a staffing level, within this local office, of at least 10 % who are residents of the City of Pompano Beach.

And/Or

_ My firm has maintained a permanent place of business within the city limits and my submittal includes subcontracting commitments to Local Vendors Subcontractors for at least 10 % of the contract value.

Or

My firm does not qualify as a Tier 1 Vendor.

TIER 2 LOCAL VENDOR

X My firm has maintained a permanent place of business within Broward County and maintains a staffing level, within this local office, of at least 15% who are residents of the City of Pompano Beach

And/Or

My firm has maintained a permanent place of business within Broward County and my submittal includes subcontracting commitments to Local Vendors Subcontractors for at least 20% of the contract value.

Or

My firm does not qualify as a Tier 2 Vendor.

I certify that the above information is true to the best of my knowledge.

10/16/19

Intercounty Engineering, Inc.

(Date)

(Name of Firm)

Righan Roa